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Bt | /A | EEm | BmEmD | B | AFHm2 | FSm | MEHmI)
G1 0.100 1.700 0170 | 1 0.170 0.009
---------------------- oio0 | oson| ooso| 0060 0003
-------------------- 0050 | 0050  0003| 1 0.003 .
G2 0.050 0.050 0.003| 6 0.015 0.001
-------------------- 0050 | o100  0005| 1 0.005 o
---------------------- oioo | iaoo| oneo| 0.160 0008
a3 0.050 1.800 0.090 | 1 0.090 0.005
---------------------- ooso | ozo0| ooto] 0010 000
---------------------- ooso | oson| ooso| 0030 0002
-------------------- 0050 |  o0400|  0020] 1 0020 o
---------------------- ooso | om0 oois| 2 0030 0002
G4 0.050 0.050 0.003| 6 0.015 0.001
G6 0.100 0.600 0.060 | 1 o060 0% 0.003
---------------------- oioo | ason| osso| 0350 0020
G7 0.100 0.250 0025 | 1 0.025 0.001
-------------------- 0150 | 2400|  0315] 1 0315 oot
---------------------- oioo | om0 oom]| 0020 000
G8 0.100 0.500 0050 | 1 0.050 0.003
---------------------- ooso | 2io0] onos| 0.105 0005
---------------------- oioo | ozo| oom| 0020 000
---------------------- oio0 | iioo] onio] 0110 0006
---------------------- oioo | om0 ooao| 0030 0002
G9 0.100 1.500 0150 | 1 0.150 0.008
-------------------- 0050 | 0050  0003| 3 0.008 .
At 1.891 0.102
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(1) G2#71
wha | miseE | s | E%| mx e | XS | WS K S e B K
(mm) (mm) (mm) (0) (mm3) kg kg
i G2 OUbi | 1 s 0.30 200 60 | 0.0018 | 1800 | 0.003 | 0.070
’ &8 200 60 0.0018 | 1800 |0.003 | 0.070
KIEAM TR ARELEE L, #HEIT 1. 15kg/m3 | m AT 40% LEELE
K= AMIFARY 22T ABIIREZARE L, 4 Sem | JESZ 3mm | FHEIF L 7kg/m3 | w AR 37% LT L
[Z=41] 4500 €S|
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(2) G3#ir
wha | meseE | s | E%| mx e | XS | WS R R B Kt
(mm) (mm) (mm) (0) (mm3) kg kg
OUbin | 1 s 0.20 150 40 | 0.0006 | 600 |0.001 | 0.052
OUbh | 2 S 0.30 250 60 | 0.0023 | 2250 |0.004 | 0.087
OUbi | 3 s 0.20 300 40 | 0.0012 | 1200 |0.002 | 0.105
OUbh | 4 S 0.30 600 60 | 0.0054 | 5400 |0.009 | 0.210
OUbi | 5 s 0. 30 450 60 | 0.0041 | 4050 |0.007 | 0.157
OUbh | 6 S 0. 40 200 80 | 0.0032 | 3200 |0.005 | 0.070
i G3 OUbi | 7 s 0.20 100 40 | 0.0004 | 400 |0.001 | 0.035
OUbh | 8 S 0.20 250 40 | 0.0010 | 1000 |0.002 | 0.087
OUbi | 9 s 0.20 500 40 | 0.0020 | 2000 |0.003 | 0.175
OUbh | 10 S 0.30 250 60 | 0.0023 | 2250 |0.004 | 0.087
OUbh | 11 s 0.25 800 50 | 0.0050 | 5000 |0.008 | 0.279
OUbh | 12 S 0.30 400 60 | 0.0036 | 3600 |0.006 | 0.140
OUbih | 13 s 0. 40 250 80 | 0.0040 | 4000 |0.006 | 0.087
4FH 4500 710 | 0.0350 | 34950 | 0.058 | 1.571
MEAMIT R OBIEAME L, BEIE 1. 16keg/m3 . v AT 40% LAEELE
M — IR Y =27 VBIRAAE L, 1B%  5Sem . B % 3mm . T 1.7kg/m3 | m AL 37% LAEEL
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(3) Gafir

wha | miseE | s | E%| mx e | XS | WS K S e B K
(mm) (mm) (mm) (0) (mm3) kg kg

OUbi | 1 k= 0.20 300 40 | 0.0012 | 1200 |0.002 | 0.105

OUbi | 2 S 0.40 | 1000 80 | 0.0160 | 16000 | 0.026 | 0.349

Ovbh | 3 k= 0.30 550 60 | 0.0050 [ 4950 |0.008 | 0.192

Ovbi | 4 S 0.20 | 450 40 | 0.0018 | 1800 |0.003 | 0.157

OUbh | 5 k= 0. 40 300 80 | 0.0048 | 4800 |0.008 | 0.105

Ovbi | 6 S 0. 40 300 80 | 0.0048 | 4800 |0.008 | 0.105

Ovbh | 7 k= 0.30 300 60 | 0.0027 [ 2700 |0.004 | 0.105

OWbi | 8 S 0.40 | 250 80 | 0.0040 [ 4000 |0.006 | 0.087

Ovbi | 9 k= 0.30 150 60 | 0.0014 [ 1350 |0.002 | 0.052

OWbi | 10 S 0.30 | 200 60 | 0.0018 [ 1800 |0.003 | 0.070

OUbi | 11 k= 0. 40 300 80 | 0.0048 | 4800 |0.008 | 0.105

OWbi | 12 S 0.30 | 200 60 | 0.0018 [ 1800 |0.003 | 0.070

Ovbi | 13 k= 0.35 300 70 | 0.0037 | 3675 |0.006 | 0.105

OWbi | 14 S 0.20 150 40 | 0.0006 | 600 |0.001 | 0.052

Ovbh | 15 k= 0. 40 300 80 | 0.0048 | 4800 |0.008 | 0.105

T G4 OWbi | 16 S 0.20 150 40 | 0.0006 | 600 |0.001 | 0.052
Ovbh | 17 k= 0.20 150 40 | 0.0006 | 600 |0.001 | 0.052

OWbi | 18 S 0.30 150 60 | 0.0014 [ 1350 |0.002 | 0.052

Ovbi | 19 k= 0.30 | 250 60 | 0.0023 [ 2250 |0.004 | 0.087

OWbi | 20 S 0.45 | 650 90 | 0.0132 | 13163 | 0.021 | 0.227

Ovbi | 21 k= 0.30 | 250 60 | 0.0023 [ 2250 |0.004 | 0.087

OWbi | 22 S 0.40 | 200 80 | 0.0032 | 3200 |0.005 | 0.070

Ovbh | 23 k= 0. 40 150 80 | 0.0024 [ 2400 |0.004 | 0.052

OWbi | 24 S 0.30 100 60 | 0.0009 [ 900 |0.001 | 0.035

Ovbh | 25 k= 0.20 | 200 40 | 0.0008 | 800 |0.001 | 0.070

OWbi | 26 S 0.50 | 1400 100 | 0.0350 | 35000 | 0.056 | 0.489

Ovbh | 27 k= 0.20 300 40 | 0.0012 | 1200 |0.002 | 0.105

OWbi | 28 S 0.30 50 60 | 0.0005 | 450 |0.001 | 0.017

OUbih | 29 k= 0.30 550 60 | 0.0050 [ 4950 |0.008 | 0.192

OWbiL | 30 S 0.30 | 450 60 | 0.0041 [ 4050 |0.007 | 0.157

Ovbi | 31 k= 0.30 | 450 60 | 0.0041 | 4050 |0.007 | 0.157

43k 10500 | 1960 | 0.1363 | 136288 | 0.221 | 3.665

MEAMIT R OBIEAME L, HBEIE 1. 16keg/m3 . v AT 40% LAEELE
M — IR Y =27 VBIRAAE L, 1B%  5Sem |\ BES % 3mm . T 1.7kg/m3 | m AL 37% LAEEL
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(4) GTHr

wha | miseE | s | E%| mx e | XS | WS K S e B K
(mm) (mm) (mm) (0) (mm3) kg kg

OUbi | 1 k= 0.20 | 400 40 | 0.0016 | 1600 |0.003 | 0.140

OUbi | 2 S 0.30 300 60 | 0.0027 | 2700 |0.004 | 0.105

Ovbh | 3 k= 0.20 300 40 | 0.0012 | 1200 |0.002 | 0.105

Ovbi | 4 S 0.30 | 1200 60 | 0.0108 | 10800 | 0.017 | 0.419

OUbh | 5 k= 0.20 | 600 40 | 0.0024 | 2400 |0.004 | 0.210

Ovbi | 6 S 0.20 300 40 | 0.0012 | 1200 |0.002 | 0.105

Ovbh | 7 k= 0.30 700 60 | 0.0063 | 6300 |0.010 | 0.245

T G7 OWbi | 8 S 0.20 100 40 | 0.0004 | 400 |0.001 | 0.035
Ovbi | 9 k= 0.20 | 200 40 | 0.0008 | 800 |0.001 | 0.070

OWbi | 10 S 0.20 150 40 | 0.0006 | 600 |0.001 | 0.052

OUbi | 11 k= 0.20 | 250 40 | 0.0010 | 1000 |0.002 | 0.087

OWbi | 12 S 0.30 300 60 | 0.0027 | 2700 |0.004 | 0.105

Ovbi | 13 k= 0.20 | 250 40 | 0.0010 | 1000 |0.002 | 0.087

OWbi | 14 S 0.20 500 40 | 0.0020 | 2000 |0.003 | 0.175

Ovbh | 15 k= 0.30 | 400 60 | 0.0036 [ 3600 |0.006 | 0.140

&3F 5950 700 | 0.0383 | 38300 |0.062 | 2.080

MEAMIT R OBIEAZME L, BEIE 1. 16keg/m3 . v AT 40% LAEELE
M — IR Y =27 VBIRAAE L, 1B%  5Sem . B % 3mm . T 1.7kg/m3 | m AL 37% LAEE L
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(5) G8AfT

e | mesiE | oms |se| me e | RS | H EAM | ot
(mm) (mm) (mm) (0) (mm3) kg kg
Oh iy 1 + 0. 30 300 60 0. 0027 2700 0. 004 0. 105
Oh i 2 = 0. 40 500 80 0. 0080 8000 [ 0.013 0.175
Oh iy 3 + 0. 30 200 60 0.0018 1800 0. 003 0.070
T G8 O 4 = 0.20 250 40 0.0010 1000 | 0.002 0. 087
Oh iy 5 + 0. 20 150 40 0. 0006 600 0. 001 0. 052
O 6 = 0.25 350 50 0.0022 2188 0. 004 0.122
Oh iy 7 + 0. 30 250 60 0. 0023 2250 0. 004 0. 087
EF 2000 390 0.0185 | 18538 | 0.031 0. 698

KEAMITo R VB ZMEE L, BT 1. 15kg/m3 . 7 AT 40% LAHEE L
M —WAERY 22T AMIEEMEEL, 1E% bem . JEX % 3mm . BET 1.7kg/m3 | v AR 37% LEELE
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o
0B 0.2/150 0»25/5'&% Mﬁm .
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(6) GOt
L o & Ex % R FEAM | o=t
W4 | REhE B | ®E| mE -
(mm) (mm) (mm) (0) (mm3) kg kg
OWbiv i 0.20 250 40 0.0010 1000 | 0.002 0. 087
T G9 OWbi 2 = 0. 20 500 40 0. 0020 2000 [ 0.003 0.175
! OWbiv 3 = 0.30 250 60 0.0023 2250 | 0.004 0. 087
A3 1000 140 0. 0053 5250 | 0.009 0. 349

KEAMMITo R VB ZMEE L, BT 1. 15kg/m3 . 7 AT 40% LMHEEL-
MY —WAERY 22T AMIEEMEEL, 1E%E bem . JEX % 3mm . BET 1.7kg/m3 | v AR 37% LEELE
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(£ =41] 4500 [GF4a]
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50 x 300 50 x 250 v ,\L@
G9 5
50|_|>_<l50 50mx50 50|_|>_<l50
=l
(1) &5

2R 0.200 + 4.500 + 10.500 + 5.950 + 2.000 + 1.000 = 24.150 m
EAMEREZE 0.003 + 0.058 + 0.221 + 0.062 + 0.031 + 0.009 = 0.384 kg
L—)LMERE  0.070 + 1.571 + 3.665 + 2.080 + 0.698 + 0.349 = 8.433 kg

FAABEERE 24150 x 4 = 97 &




